1, Givers AD=C8, BC /f AD
PYOYGI AABD = ACDE

Provi vian iés Congruen ﬁl

e SBIEMENES
1. 2b=(8, BL// AD
2, ED=Df
3. L1alk
4, AABD z ACDE

3. Givens AD=CB, DE = BA
Prove; AABC = ACDA

4K

e SEEMERES
3, BB TH DC=BA
2. K&aa
2, AABC R ACDA

P
3. Giver: RV =TV, V5 bisects 2RV
Prove: ARSV 2 ATSV
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Statements

1. Bve TU, ¥ bisects £ BVT
2 L1242

3.%5%

4, ARSV 2 ATSY

4. Given: GE bisects DF, GB =GE
Brove: AGDE = AGFE

<*
™
it

Reasons

- Statemerny
1. GE bisests DF, D& GF
3, GE=GE
4, AGDE 3 AGFE

5, Ghent! ?Z}/f‘ﬁg,?é =R
Prave: APOS = 2R5Q
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2, ZP0Se LRSO
4, APCS = ARSO
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6. Giver: PEzTE £12 22 BE LAD
Prove: AAED z ACED

e SALEIENS,

1. AE=TE L1822

2, §E LAD .
3. ZAER=90 LCED =90
3. ZAEBz LCED

5. AREB z ACED

7. givers; AC and BD bisect sach other 2t W
Prove: AAMB = ACNMD

1. AT and BD bisect each other o m

2, Ak M, BN = DM
8 L EL
&, A A

;2

&, Giver: DE// BB, CA//EF,
FAE YA R —
£ js the midpoint of BC
Prove: ACDE = AEFE

3. Vert. Js&
4,

5t 1erits
1. TAJ/EE
2, 2345
3. TE /AR
A, ZBnli
5, L3= LR
&, zw_'_,,.a et

7. £ the midpoint of BC
8. CE=EB
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Give a reason to support each statement,

1, B 28 and 2B are a linear pair then SA and LB are supplementary.
2. 1f ZA and ZC are vertica) angles. then A= LG
3, Bmsl =g, and ms2 = mLs, thenmit =md3,
&, P AARF = ACED, then LAz 20
%, i £A and <D are complementary, then mlA S mib = et
&, T is iy the interior of ZSRE, then mZSRT + m.LTRE = m/SRF,
7. !f?%? bisects £SRE, then mLSRT = mJTRF.
R

8. Giver: AH and BR bisect each other at M i H
Frove; ZAasH A

staterments Reasahs

e

1. AF and BR bisect each other at M
2. AN AlE, Rl = BN

3, LRMA = LBMEH

4, AAMR = AHNME

5. LA=LH

wom W M

9, mmn:@@.%btwcu LRVE
Prove: RS2 Ts

e Stutements R __Reasons T

1. RV =T\ V3 bisects ZRVT
2 L1 £2

3. V5<%

4, ARSV 2 ATSY

T

o WMo

10, Given: AEz BE, LZEAB= ZCBA b
Prove: L1z L7

e BtRGIAGRES . . Rgamnsa -
1, RE2BC, LEAB = ZCBA L . e

z. AB=BA 2,
3, AABC = ABAE 3

& Lzl N
g T

11, Givens £5VTa QUTY, W UT Z
Prove; LSV & ZUVT ’

e SARRSIRENLS _Beasons
1. L8VT LUTY ' i
= 2, Given

7 = -~

S Mﬁeﬁ 3

4, ABVT2AUTV 4.

5, L5TV a ZAWT 3, , _
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12. Given: TP bisects ZMLN,

_PM LLM, PN LIN
Prove: PM=PN - 0
7
Statements Reasons

1. LP bisects ZMLN

2. ZNLPz ZMLP

3. PMLLM, PNLLN

4. LIMPs90 ANP =90
5. ZLNP= ZLNP

=,

b __

7. ALMP 2 ALNP
8. Pz PN
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\Xl’riting‘ Two Column Proafs -
Write a two column proof for each. :
I

1. Given: RJ = RK, $7=SK i
Prove: ARSIz ARSK
. R ; S  Problems#1and?2
2. Given: £Z1 and /2 are right angles, JS =I5
Prove: ARSJ = ARSK
K
R
/ \V
. _ I RN
3. Given: AB and CD N 4. Given: /3= /4, TS bisects ZTRP / l N

bisect each other ‘ Prove: ARST = ARSP . o
Prove: AAXCz ABXD . /
S

B
o
5. Given: AB=CD 6. Given: /Xz /2 12
~ AB// €D /3= /4
Prove: AABD = ACDB Prove: XAZZA Ay
314,
2 X 7
— — c
7. Givern: AC=BC L . .
X is the midpoint of AB ; 8. Given: AX L VT X
Prove: 7 2= /44 L1=L2
L=4 Prove: LN LY 1
A m B
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Q. AX 2 PX 2 ’ l—/\x 5
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3 LAXC 2 LHAD 3 ' \l

A pAXC 2 ABXD |4 — 1%
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L4l =29 8|
3. Rs2es |2, _
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2. AY=2pY
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Provina Triangles Congruent H2

1. Givers AD =BG, BC // AD Ny ©
Prove: AABD = ACDB i &/
3 Siatements Rgﬁsar‘:
1. Ab=Bc, BC/f AD 1. 1e
2, BB=BB DI 2. Kol
3 Azl A
.

%. AARD z ACDB

2, Givery AD ;“:'&E, DC=BA
Prove; AABC = ACBA

Stgtements

t. AbsTB DE=BA
2. KEEKE CA
2 AABC x ACDA

e
I, Givern RV =TV, S hisects £ RV
Prover ARSIV z ATV

T/ Statements
1. v = UT, 7 bisects £ RVT
2 Lizdd
3. V=¥
4, ARSV = ATSY

4. Givere GE bisects'ﬁ—?, gﬁaﬁ?
Frove: AGDHE = AGFE

Staterments
1. BE bisects DE, GD = GF

i

4, AGDE = AGFE

5. Givent O /fwﬁg, PO=RE
Brove: APOS = ARSG

%,

1, FOS RS, 251 ;;’“RE
2. SPOS e RSO
4, APOS = ARSC




6. Givens RE=TE 122 BELAD
Prove: AAER = ACRD

Statements

1. AE=Th, L L2

2. BELAD s AER-OG /¢
&g&&&mﬁ&ﬁmﬂgﬁm@%
4 ZAEBz CED

5. AAEB = ACED

7. Givery: AC and BD bisect each other a7 M
Prove: AAMB z ACNMD

Statements
¢, AT and BD bisect each other ol [V

8. Given: DE// A8, CR//EF,
Vi E-T N -
£ is the midpeint of BC
prove: ACDE = AE}‘Q

4, > >

State 5
1. CA//EE
2. 23=45
3. DE//AB
A, IEznld
g, L3z LA
& 2\ @2 2=

7. £i¢the midpoint of 8C

8. CE=EB
(ﬁ:) ; ,,"\"\1,\&. 2\ «: \Q& - <N

10, ALDE =aED

‘)\.
A
|
CX, P, V, = E‘,
7. [ A/t o
8. \] Yy, \Y.
G
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CGive a reason [0 support each statement.

Lo, B LB and ZB ave a inesy pair then LA and L are supplementary.

2. If ZA ang £C are vertical angies, then ZA= LG

DAL 3. Wmsl =mg2 ang ma2 =ms3, thenmlt =mL3

&, if AARF 2 ACED, then JA s L0

il szt 8, 1 LA and L5 are complementary, then mLA + mcb = 9%,
L4 6. 8T is i the interior of ZSRE, then mZSRT + mLTRF = m/SRF.,

8. Givers AM and B bisect each other at M

Frove, LAz s

Siatements

7. ¥ RF bisects ZSRE, then mZSRT = mTRF.

1. AF and BF bisect each other at M

2. RRi=FiM, @ = B
3. SRVA = LBMI

4, AAMER = ARMB

5, LA=LH

2. @mn:_l!“g;;\fni VS pisects LRVY

Provex RSz

<. Smtements
4. T = VFF, VS bisects ZRVT

2 Lig A2
3. VS«
&, ARSV 2 AYSV
5. BS«T%

10, Given: AE =BC, ZEAB= ZCBA
Prave: L1z L2

F2E I

. .. 11X
1. RE=HC, LEAB = ZCBA
2 AB=RB (|
3, AABC = ABAR
& LigLa

11, Givens £SVTs 2UTY, SV=UT
prover L3TV s JUVT

Statermenis
1. ASVT = ZUTY

2 )= ‘
T e T T

3 VTaVT
£ ASVT = AUTV
&, LSTV @ ZAUVT




12. Given: Ebisﬂs s ZMEN,
_PWM LLM, PN LLN
Prove: PM= PN %

] Statements
1. LP bisects ZMLN
2. ZNLP= ZWLP
2 PMLIIMPNLIIN
2oL MP T ZE NP ATe FigHE FFigies
5. ZLMP = ZLNP
7. ALMP = ALNP
8 PM=PN

e e ab A A A AR AL LA A AARAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAANAN




gﬁmh z:;z,,% W sHon) ovu

&%1?

So & S /
OS5~ L
BRS b -

in

AR~ CO Dime’
1 : 07810 /A ‘\\L\&v

9 PR 2R
C X 2 ¥ DK

“‘5‘"\1

Gutea

2:;\ \BJ % \U{ ] i\

if) AV L‘\“L'If

AN

\ "“4' }C\ .
VVIN/ T

P
o

R a5y

S SN

:5; Pt RS X

S AS

A pA X E ABXD

|

4 .
T )




;’%

fo =44 3
V. (S iec TP

A4 Z224q
2 RSELS

s

A DN RSTE pRsp

it ‘v“l \ "'\‘ C ), “/.
vl
9] /‘r\
N0 U\\\"?Y;\‘\'L"uwm«
N

s AnzcH

‘i. AR VD

S4B )
3. DR % B

4 AARDE MO

2. AY 2

A
. AW
e

e
A



1.

3. XCEXC
A MNCXEDN

S
Emw"? i'

‘%’%
o

5.

~ P) C
L ’?(\L RS :\kd Ab

SA K2 By

a’ "'“" M

= 4:11«1

} R—
\ AXANT
i e Z\ = Lz_,

§,£$$QQja
3,@&%&%

2=90

an A
. ”?<,{ A)

S

™MON micd 4{&\5

LY

(

. \Q\q o iue

cn{

SN

5 . CPLTC.

}.
3.
3.

b‘\\.‘\av'\
defofb ==

Qubsim oo

4 X ‘\: o o v : -
an AL £ o 4 Ai}\%l\iﬁ\ V A k
/ i ’i'\)\ : . \\'L\
5 AVXRZATXA | B A
[p. 4N = 4T i%,wCWﬁQ
e



